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Lesson 61.  
Swara Sandhi and Visarga Sandhi. 

SvrsiNx> / ivsgRsiNx>  
 
In my early days of enthusiastic Sanskrit studies, I picked up the 
Panchatantra to 'improve' my language skills. One look at the text… a long 
never ending word that filled 25 lines (if I exaggerate, it is only for 
effect….believe me, I do not lie. Ever.) and I figured that I had to get my 
Sandhi rules firmly understood first. 
Sandhi is the joining of two words into a single word. The last letter of a 
word and the first letter of the adjoining word form one letter. 

Sandhi-vicheda, siNxivCDed> , describes the process by which one 

letter ( whether single or cojoined) is broken to form two words. Part of 
the broken letter remains as the last letter of the first word and part of 
the letter forms the first letter of the next letter. 
Over time I still find it easier to break words than to join them but here 
are a few tips that have kept me in good stead either way: 

1. Sandhis take place whenever there is a presence of a swara….a 
vowel ; the presence of a consonant WITH a halanta ( for example 

k! ); the presence of a visarga (for example k>  ) 

2.  Siren's on!! Trip up alert: 
Whenever I see a y, v, @, @e, Aae, AaE, s!, z!, ;!, r! , = in a "more or less" 

long word, my antennae go up. Chances are that I have a Sandhi staring at 
me in the face. I always potter around these letters to help me decide 
whether the occasion has presented itself to break two words. 
 
The more I read, the more I was convinced that there were a trillion 
sandhi rules to follow.  But ever so slowly it began to filter in that 
amongst those trillion rules a few are oft repeated and they are the only 
ones that one need really remember to follow Sanskrit classical texts. 
Buy a book that lists all sandhi rules so that you can refer to it if you 
come across an occasional sandhi that I have not dealt with. But for all 
practical purposes, these are enough. Lesson 61 will deal with 1) a revision 
of swara sandhi rules plus a few more new ones AND 2) with visarga 
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sandhi rules. A tabular column works well for reference. 
Swar Sandhi. 
 
The name of 
the sandhi 

The first 
word 
should end 
in: 

The second 
word should 
begin with: 

Result 
of the 
sandhi 

Example 

1. dI"R  

siNx  
A or Aa A or Aa Aa  ihm + Aaly> = ihmaly> , 

iv*a + AwIR = iv*awIR , 
 # or $ # or $ $ kiv + #NÔ> = kvINÔ> , 

ïI + $z>   

= ïIz> , 
 % or ^ % or ^ ^ _aanu  + %dy> = _aanUdy> , 

vxU + %dy> = vxUdy> , 
     

2. gu[  

siNx  

A or Aa  # or $ @ sur + $z> =   surez> , 

rma + $z> =   rmeez> , 
 A or Aa  % or ^ Aae sUyR + %dy = sUyaeRdy , 

g¼a + %imR = g¼aeimR> ,  
 A or Aa  \ or \& Ar! mha + \i;> = mhi;R> , 
 A or Aa  l& Al! tv + l&kar> = tvLkar> , 

3. v&iÏ 

siNx  

A or Aa  @ or @e @e  mm + @k> =  mmEk> , 

dEv + @eZvyRm! = dEvEZvyRm! ,   
 A or Aa  Aae or AaE AaE  %:[ + Aaednm! = %:[aEdnm! 

, 
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mha + AaE;xm! = mhaE;xm! , 
 A or Aa  

( %psgR a 

prefix ) 

\ or \& Aar! %p + \CDit ( to go, to 

become difficult ) = 

%paCDRit,  
 A or Aa  

( %psgR a 

prefix ) 

l& Aal! %p + l&kar> = %paLkar> , 

     

4. y[! 

siNx 

# or $ vowel that is 

not an # or $ 
y! #it + Aaid = #Tyaid  

 % or ^ vowel that is 

not an % or ^ 
v! vxU + Aagta= vXvagta , 

 \ or \& vowel that is 

not an \ or \& 
r! ipt& + Aa}a = ipÇa}a 

 l& vowel that is 

not l& 
l! l& + Aak¯it = lak¯it , 

     

5. Ayaid siNx  @ 
 

any vowel  

(except for  A 

if the @ ending 

is that of a 
declined noun. 

Ay! hre + @ = hrye , 

vtRNte + #it = vtRNtiyit / 

vtRNt #it  , 

 @e any vowel Aay! nE + Ak> = nayk> , 

tSmE + Aip = tSmayip , 
 

 Aae 
 

any vowel  

(except for  A 
Av! pae + An> = pvn> , 

_aanae + #dm! = _aanivdm!  / 
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if the Aae 
ending is that 
of a declined 
noun. 

_aan #dm!, 

 AaE any vowel  
 

Aav! paE + Ak> = pavk> ,  

%_aaE + Aip = %_aavip / %_aa 

Aip , 
     

6. pUvRêp 

siNx  

A declined 
noun ending 

in an @ 

 or an Aae 

A = 
instea

d of A 

kvye + AÇ = kvye=Ç , 

saxae  + AÇ = saxae=Ç , 

     

7. prêp siNx  a prefix 
ending in an 

A 

a conjugated 
verb beginning 

with an @ or an 

Aae 

A is 

elided. 

Av + @ih = Aveih , 

%p + Aae;it =  %pae;it, 

     

8. àk¯it_aav 

siNx  

iÖvcn 
words 
ending in  

$, % , @ 

iÖvcn word 

where its first 
letter is a 
vowel. 
 

Sandhi 
does 
not 
take 
place 

 kiv  + @taE = kiv  @taE 

gué   + #maE = gué   + #maE  

 Indeclinabl

es (AVyys) 

ending in an 

an Aa or an 

Aae 

vowel Sandhi 
does 
not 
take 
place 

Ahae AÇ 

_avan! 

Aa @v< nu mNyse 
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I came across very peculiar sandhis during the course of my study. 
Unfortunately, I have not been able to find a rule in grammar texts that 
authenticates such sandhis. However, I'll place them before you and if 
you do come across references regarding this please let me know so that 
I may share it with others. 

1. Words that end in A/Aa and when combined with words beginning 

with A/Aa   have sometimes been written like this: 

twa + Aip = twa=ip   

tÇ + Aip = tÇa=ip   

tu:qa + AÇ = tu:qa=Ç   

The occurrence of two Av¢hicû s ( == ) together tell you that an Aa  is 

present at that point. 
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Visarga Sandhi: 
Before we do the Visarga Sandhi, it is important to have a table that 
differentiates the soft consonants from the hard ones. 
 

ˆÃÅ ‰þÃ ŠþÃ ‹þÃ ŒÃ 
�þÃ ŽÃ �þÃ �þÃ ØþÃ 
ÙÃ ÚÃ ÛÃ �Ã µþÃ 
·þÃ ˜þÃ ¸Ã šþÃ ›þÃ 
œþÃ ûÃÅ �þÃ žþÃ ŸþÃ 
     

¡þÃ £Ã ¥þÃ ¨þÃ  
ªþÃ «þÃ ¬þÃ −Ã  

 

The shaded consonants are the kQaer-VyÃnain  - hard consonants. 

The rest are m&du - VyÃnain  - soft consonants. 
 
The following table should be helpful 
 
visarga preceded by followed by results in 
  A any soft 

consonant OR A  
coalesces into Aae (for 

a soft consonant) OR 

Aaee=  (for an A ) 

k> + Aip  = kae=ip , 
 An indeclinable 

(AVyy) ending in an 

A   

any vowel OR any 
soft consonant 

except for r  

is replaced by r!  

pun>  + AÇ = punrÇ , 

pun>+ gCDit = 

pungRCDit , 
 An indeclinable 

(AVyy) ending in an 
 r visarga is dropped and 

the  A becomes Aa 
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A pun> + rmte = puna rmte ,  
 The vocative case, 

sMbaexn , of a \ 

ending noun 

any vowel OR any 
soft consonant 

 changes to r!  

ipt>  + vNde = iptvRNde , 

 A  any vowel except 

A 

is elided 

k> + %vac = k + %vac 

,  
    
 Aa  any vowel OR any 

soft consonant  
is elided 

bala + AÇ = bala AÇ 

, 

ta> + gCDiNt = ta 

gCDiNt ,  
 

 any vowel except A,  

Aa 

any vowel OR any 
soft consonant 

except r! 
 

changes into r! 

muin> + #it = muinirit , 

 any  short vowel 

except A 
r 
 

the short vowel 
becomes long 

_aUpit>  + rajte =  _aUptI  

rajte , 
 any vowel  

c! , D!  ,  

q! , Q! ,  

t! , w!  

z! , ;! , s! 

changes into  

z!  ,  

;!  ,   

s! , 

z!  , ;! ,  s! , 
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 A k! , p! s! 

nm> +  kraeit =  

nmSkraeit , 

purSkraeit, 

@;>/ 

s> 

 Any consonant or 
vowel except for 

A 

elision of the visarga. 

s gCDit , 

 
Name of 
the 
sandhi 

visarga 
preceded 
by 

follow
ed by 

effect example 

1. %Tv A> r Aaer mn> + rw> = mnaerw> , 
 A> il Aae il k> + iloit = kae iloit ,  
 A> v Aae v DaÇ> + vdit = DaÇae vdit , 
 A> g Aae g yz> + ganm! = yzae ganm! , 
 A> x Aae x tej> + xnm! = tejae xnm!, 
 A> A Aae= k> + Aip = kae=ip ,  

s> + Aip = sae=ip , 
     

2. sTv A> t! ASt! nm> + te = nmSte , 
 A>  q! A:q!  ram> + qIkte = ram:qIkte , 
 A> c! Aí 

 
k> + ict! = kiít! , 

     

3. éTv %> A %r! A _aanu> + Aym! = _aanaerym!, 
 %> h %hR zÇu> + hiNt = zÇuhRiNt , 
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 #> g #gR muin> + gt> = muingRt> , 
     

4. laep A> Aa A Aa  maehn> + AagCDit = maehn AagCDit 

, 
 A> # A # ram> + #CDit = ram #CDit , 
 A> % A % k> + %vac = k  %vac , 
 Aa>  Aa  Aa Aa nra> + AayaiNt = nra AayaiNt , 

bala> + AagCDiNt = bala AagCDiNt 

, 
 Aa>  g Aa g  deva> + AagCDiNt = deva gCDiNt , 

 
 


